Самостоятельная работа.
Вариант I.
1.  Переведи :

	17 км 34 м = ………………..м

	3 ч. 25 мин. = ……………….мин.

	65 ц 5 кг = ………………..кг

	46 км² 300 м² = ………………………м²

	786402 г = ………..кг…………г



2. Вычисли :
	708 т 14 кг – 119 т 605 кг = ………т……..кг

	1) 

	

	2)  


	3) 

	91 м 56 см + 14 м 58 см = ……….м………см

	1) 

	

	2)   


	3) 



Самостоятельная работа.
Вариант II.
1. Переведи :

	300 км 8 м = ………………..м

	5 ч. 16 мин. = ……………….мин.

	19 ц 46 кг = ………………..кг

	20 км² 679 м² = ………………………м²

	100198 г = ………..кг…………г



2. Вычисли :
	568 кг 28 г – 309 кг 115 г = ………кг……..г

	1)

	

	2)


	1) 

	87 ц 36 кг + 35 ц 97 кг = ……….ц………кг

	1)

	

	2)


	3)



